
高知県公立高等学校 入試問題 １番（平成１１年度～平成１５年度） 四万十市教育研究所

問題１(Ｈ１１)

① ４＋(－７)

② (－８)÷(－２) ①

③ ３ａｂ÷３ａ×ｂ ②

④ ３(ｘ＋１)－(４－ｘ) ③

⑤ ④

⑤

問題１(Ｈ１２)

① ２－９

② ①

③ １２ａ ３÷３ａ ②

④ (ｘ－１)２－(ｘ＋２)(ｘ－４) ③

⑤ ④

⑤

問題１(Ｈ１３)

① －９＋４

② (－６)÷２ ①

③ ８ａ ２÷４ａ×ａ ２ ②

④ ４(２ｘ－３ｙ)－３(ｘ－２ｙ) ③

⑤ ④

⑤

問題１(Ｈ１ 4)

① ３－６

② (－４)×(－７) ①

③ ６ａｂ ３÷２ａｂ ２ ②

④ ３ｘ(ｘ＋２)＋２ｘ(ｘ－３) ③

⑤ ④

⑤

問題１(Ｈ１５)

① (－３)－(－８)

② ①

③ ３ａ×(－２ａ)２÷ａ ②

④ ２(ｘ－３ｙ＋１)－５(ｙ－１) ③

⑤ ④

⑤

H11 H12 H13 H14 H15 正解数

① ／５

② ／５

③ ／５ 得点（各４）

④ ／５

⑤ ／５

５０ －
２

８

（－８） ×
３

４

２７－ ２ × ６

３ × ５ ６－
２

１２

（ ７－２)( ７＋２）

９× (－
２

３
)

３（ ６－２ ３）
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問題１(Ｈ１１)

① ４＋(－７)

② (－８)÷(－２) ① －３

③ ３ａｂ÷３ａ×ｂ ② ４

④ ３(ｘ＋１)－(４－ｘ) ③ ｂ ２

⑤ ④ ４ｘ－１

⑤

問題１(Ｈ１２)

① ２－９

② ① －７

③ １２ａ ３÷３ａ ② －６

④ (ｘ－１)２－(ｘ＋２)(ｘ－４) ③ ４ａ ２

⑤ ④ ９

⑤

問題１(Ｈ１３)

① －９＋４

② (－６)÷２ ① －５

③ ８ａ ２÷４ａ×ａ ２ ② －３

④ ４(２ｘ－３ｙ)－３(ｘ－２ｙ) ③ ２ａ ３

⑤ ④ ５ｘ－６ｙ

⑤

問題１(Ｈ１ 4)

① ３－６

② (－４)×(－７) ① －３

③ ６ａｂ ３÷２ａｂ ２ ② ２８

④ ３ｘ(ｘ＋２)＋２ｘ(ｘ－３) ③ ３ｂ

⑤ ④ ５ｘ ２

⑤ ３

問題１(Ｈ１５)

① (－３)－(－８)

② ① ５

③ ３ａ×(－２ａ)２÷ａ ② －６

④ ２(ｘ－３ｙ＋１)－５(ｙ－１) ③ １２ａ ２

⑤ ④ ２ｘ－１１ｙ＋７

⑤

H11 H12 H13 H14 H15 正解数

① ／５

② ／５

③ ／５ 得点（各４）

④ ／５

⑤ ／５

５０ －
２

８

（－８） ×
３

４

２７－ ２ × ６

３ × ５ ６－
２

１２

（ ７－２)( ７＋２）

９× (－
２

３
)

３（ ６－２ ３）

２

３

９ ２

３ ２－６


